o B? [pb]

10

=

(=
IS
I

-5
10 200 400 600 800 1000 1200 1400 1600 1800 2000

35.9 fb* (13 Tev)

L LA e e e o S
CMS  scalarLQTO - i
B with unc. (=1)

o 2B(1-B) [pb]

Glheory
--- Expected 95% CL upper limit

—=— Observed 95% CL upper limit

m . [GeV]

10

10"

107

107

10

1073

35.9 b (13 Tev)

UL L
CMS Scalar LQ LQ - pvjj
2B(1-B) with unc. (3=0.5)

c’-lheory
---' Expected 95% CL upper limit

—=— Observed 95% CL upper limit

o b b b b b b by 1

200 400 600 800 1000 1200 1400 1600 1800 2000

m . [GeV]



